/DVIRB

*UXSD 5R]NiDG 35% * 7\J
N N N N
g 3UDZR NDUQH ZDU 5XVIQ 3UDZR DGPLQVIUDF\IQH 3UDZR NDUQH ZDU 5XVIQ 3UDZR NDUQH ZDU 5XVIQ
RZVNL 3UJHP\ViDZ GU = FIVIF] Z GUTHIDVNR RZVNL 3UJHP\ViDZ GU = RZVNL 3UJHP\ViDZ GU =
% 35% ODNRZVND (ZHIQD =% % 35% % 35%
-$5 35% * z -$5 -$5
N N
=
5 3UDZR F\ZIQH SUDZR 3UDZR F\ZIIQH SUDZR
x UJHFIRZH PJU UJHF]RZH PJU
N - ZIDINRZVND . DURIQD = - ZIDINRZVND . DURIQD =
% 35% " % 35% "
=$5 =$5
N N N N
[a) 3UDZR URG]LQQH L = DWV]IDI GR Z\ERUX ] = DWV]IDI GR Z\ERUX ] = DWV]IDI GR Z\ERUX ]
8 RSIHNXEF]H Z 7RPDVIH GU *JIXE _UJ\VIIRI =% GU *JIXE _UJ\VIIRI =% GU *JIXE _UJ\VIIRI =%
=] ZIF] ODUFLQ GU =% 35% - 35% - 35% -
T 35% " = = $5 = $5 = $5
‘ 3UDZR NDQRQIF]QH 3UDZR NDQRQIF]QH 3UDZR NDQRQIF]QH
N N N N
£
= 3UDZR DGPLQIVIUDF\IQH 3UDZR DGPLQIVIUDF\IQH 3UDZR DGPLQIVIUDF\IQH 3UDZR F\ZIIQH  SUDZR
a F1CGi VIFJHIyiRZD F1CGi VIFJHIyiRZD F1CGi VIFJHIyiRZD UJHF]RZH .DF]PDUI\N
,’i ZDU  GU 6RANVIDN ZDU GU 6RANVIDN ZDU  GU 6RANVIDN = IHFND ODJGDIHQD =%
L 3DINFID =% 3DINFID =% 3DINFID =% 35% -
35% * -$5 35% * -$5 35% * -$5 -$5
N N
=z 3UDZRNDUQH Z GU 3UDZR F\ZUQH  SUIDZR
< = UyEH) $GDP =% UJHF]RZH GU -DVIEVND
Q 35% % - ZXVINQD =%
@ U GURGD _S* =
DICFLD IDN Z SlalHN U GURGD
JDICFLD IDN Z SIDIHN
o
©




